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IR WG $ AT 20 $ FJR 368 F W e
M g 41 IS 352, 356 3R 360 N e AT
W AT ATBT 21(F) F1 Aeier e & 1¥HR 4 2l

53. frafefea & 9 f&w ugel 1935 9 wfaums w91 &1

=g sRafaa faar ?

(a) TH.TA. (b) TEw

(c) T (d) 9.9, IREI
BAR—(a)

TG00 7 99 1935 3 A |G $1 Goima wanad fail

54. Ufd QUCETS & TR P TG B 0 R0
e wfge?

(a) STcfdTarE (b) gl
(c) Tt (d) et
TUR—(a)

Ufel QTS o TR, eIl TR b 0T JATHIZITRT
BT 1Yl Uidt ears & ST9R, IS WRINd W
IIREIIE g8 B B 581, AR faeard, i
B BN B, 3BT Sdl, A IhT AR AR T2H

A BT TOT AT AR

55. HERoR B kT a9 % forg ofit-Rvas s R -
(a) SUR FRIF0T
(b) ATTHNG ST FH HRAT
(c) AT fAAROT YOTTel) & AIETH i BHid =T
(d) THE B FHR ¥ U & fog ST wxmemE
SAR—(*)

HETHIRT Bl RN b 1e1Q Yfei-faware SURI ST 6 &%
H gfg, gol IR @1 fharstt & Siavta wRryfost @
fasmar, 0 & RT TRAT BT ARLNYOT, Y. 37R 3R T2
TH.UAl. AR # g, Wi HagTeia aegali & Hau &
i o1 ger, faqeh fafg &= 4 afg, Tea fageh
ot @ & wHife a1 ge1 @1 gl ¥ 9fg o arel
T 19 1 IR 71 onf Bl 39 STerrar Ardeia
T FHH AT, Ahe) D T W Fges & fore S=
PRI 37 M GBI BT FRIRT o= & i fawgas

JUTT g SSC A & IR (c) faa B

"I Amed Rigid’ @1 ufure ged Rmy, =
FIUIR BT S gl STl &, fam o1l g7al qRaids a1
M " An Inquiry into the Nature and causes of the
Wealth of Nations" g SSC ¥ 3! IR (a) f3a Rl

57. ‘favq e RO’ N gwifea a1 37

(a) TG XTE ATIR U4 IS AR
(b) fawa §&
(c) g I Tt wrienm
(d) SIS FT Y
BAR—(*)

HeRITY R
TSTAYS (IMF) TS GRS ASTID
faeq §% (World Bank) 98 Saaie RuE
3iwers (UNCTAD) Tos gaeHe RUE
JuErdl (UNDP) TIH SIATHC SSa
SSC 1 g9 SR (d) fam B

58. ‘gd Whifd’ B AR fw ™ A W S S g
(a) A THIf (b) AT Tl
(c) TaTEY Iy (OEISELIS]
BAR—(*)

‘Tarel Wil B Reafd ‘gd Wi’ (Galloping Infla-
tion) T 31f WHT (Hyper Inflation) 4T # 1 gt
Bl <fd I8 ga whifa & 91 aiafde |dia gl 2l
Tg A Iod W B B POl AR H
I bl 1fe &= <1 AT < e =1 i 20, 100, 200
gfererd @ I8 ga wifd gt ® R mard) i
Running Inflation) W dgd B e FA W
‘31fa T g 81 SSC 7 39! $ax (d) f&am R

59. IRea & yaw o1 Hey fHE B2
(a) T < TC=IET A A
(b) TTEER, 1917 B S Hifa A
(c) 1789 @ RN wifa |
(d) IR & Tac=ar S A
FAR—(c)

an



IR & Ta= B ey 1789 3. & WA Hifa A B
HRIRAT FHTE s AIgd & Piel # Ol Hahe | Sa%
¥ forg guR & fatwhel B & 91§ Y BR N S IR
B TIRT H= 7g 5 A, 1789 I AHII AT TS TS|
3 98% ¥ faarg & 918 qog o & AN A g B
TSR AT Bl Yo B 31 JAg a7 & AT A1eg §
IP - PR B BRI RIS &1 ¢ R 2 < DI
P I 93P DI AR A9Y ofl & 519 T Wi & forw v
ST T B I TE PR o1 T TP 3T ATTD!
T TG B <311 JThI AR IRTSTH b TRUTARIRRY
ST Bl ST & WG S IR F G R ATHA
F w0 A gorll URE I S 7 14 Jarg, 1789
IRed & g7 IR JAMFHAV TR I eaw )

60. WA ¥ fb @R SRS D) “RIFMY @R 6l

faen’ g1 en?

(a) &S R OEEEESE

(c) TS BT (d) 9IS faferam dfes
SWR—(a)

e Rua & et o 99 "gaqol & i
RN TR RGN Targ ol Rus qo1 6 TRuiferaraii
P! fIwfaa ST arRdn o1l SEd TR, 61 9 ]9
B oI Rl SR BIell R 3P I Se9T < B
TR Pl ITH I & el 3AfUg TS AR ABHI
et &1 A1eE I o1l ¥ Iewg o Wit 2g -
=1 <1 A 1883-85%. 414 UMY T2 SR
qIRd fo=m Tl Ros =1 vy wemed & hfd FeiRa
P N T UPR W YRG d ufaHf deenst & g
V), ST S W e &l fdr &gl S 2

61. 1873 % ‘dF wUIEl & 99’ & AN fbq 9 A

ST ST 217

(a) TS D (b) SEFRRES AR

(c) el | (d) g9 |y
SaR—(b)

() TRIRREE AR (1873) - 1981 Iares) # S iRTeR
qrel dF fawrd | ST, SiRear ok v @
3+ afferd faar e

(i) EITHH A (1879)- T8 S IR iR, &=
o 99 g8 |

(i) Fraefir ey (1882)- 3 S+ &R &fiRgar, &
IR geofl wnfie A

(iv) I A - (1887) SN, SifRgan, R &R
gl il

62. dfsaxrs s fAwferfad § 9§ SIF-9 NTon B
ISThia A ?

(2) Y, (YEEZN
(ONIESH (d) ARToE
JAR—(c¢)

afrfe ol wTIst Y HReToT uTe gai SR SAD Ut
gl TTER 3R I T’ & G S ufed
EoTgl & XToThid | 39d STfaR<h ' Smamd v’
TGS YRR Bl A ST ARET0T UTd ol

63. WRA A ATl fawwel ¥ Aafafea 3 | w0

q17?

(a) BT (b) &feor TR

(c) FeTETT EITE R (d) uf¥es =E1e
SR—(b)

gf&1v1 U8R (Deccan Plateau) &1 o1 fhe Ry ara
& 3§ AT fARPICT & HIRT gl 1l 37 fawmict
BT HH TR Ferd] Y81 a1 399 Fdvetl <ram e+
1.5 fafera= foeft. & &= A et a1 T 39 TSR @
fmfor gaml

64. I A FrafoRea 3 § s 7w g =
IR ‘eNg-yEy’ §?

(a) TUTATST (b) B!
(c) & e (d) T Ruferas
FIR—(d)

wiel Bl g € Rufeers’ geaa: =g o) 9y ude’
H
65. WRIH 98 A b Rfg-gRem tea &1 @

&gl AqT?

(a) AT 3T (b) &H= 3Fell T

(c) IFA TFHR @i (d) 2Nhet 3redt
SIR—(b)

Her g el FST=11 1 a8 1906 & 918 et 0 Seard
P I AL vhal W & 99 a1, e vaifaa
BIHR TR RIS, 7 S f2g-qRe Ydhdl & YToigd
B Iy <1 2l =1 9 1906 H IRWR a7 & q1”
HRA a9 MY 1 9 R, STR Igare] AR SIeT4TS
AR & FHIF Al a9 1916 H TGS, W gY B 3R
R <l FHid & arod 9l faad iR = 1
[GEEaERIN G eI

(12)



66. ITEd IToTAY Bl IS DA ot ?

(a) POTRIR (b) <afIR
(c) ARTORA (d) PTTYRH
IIR—(b)

70. wpal o RO B Fia R <l ?

(a) XeoreT (b) st
(c) @ <irer (d) Tdiese
FAR—(¢)

AR &1 I1eg IToTael W Pl g IRAR BT Gl A
9| qREd! o) H fiee™ TaH W AEa ITST B AT
o ot Sun faafeq uRadt arqge wmrs & e
Rl IR et foharT, Ty Sa! BRIl & <12l ey
73Tl 39 <Ak (R = 918 3 Srerararg uer) ®
Y1 TSI U |

67. IRA F1 HAND FSU FHgi IR S Q2
(a) g =T H
(b) IPa Farfzar R 4
(c) U8 HEtEHl |
(d) 7pat Rrer
FR—(d)

IR P FAiee AigoT IPa RRT (Hepatic vein) d
T ST B Iga RIRT 4 g 8 watfdes w3 7 gRa

ERSIERISIE]

68. I A& Py 9T TR §?
(a) TETIEII ¥ MR BT (b) TR AR Hg™
(c) TR TS (d) Rue art

FR—(a)

JeTTolTd e 9 B, e o= veret 1R garm g1 3 fe
Terefia Wil & A, A, gasi qen W aesi
EINASICa G F R A A C IR E SRR IR O E SR
eTy Y& AEg IR #de 91 ARIE N S R 8l

Y S B, e HE-wEl 3 TR el § 6 fed 2

69. Jicdied ¥ Frafafia § I P THE AT
foraxw 37

(a) ATSC TB (b) ASE =i®
(c) Arde YRed (d) ArSE Y|
FARN—(c¢)

TR QU 7Y fadmei # 9 Ade gRaw sierdfea
Rerd Fa9 a1 iR Fea9 Afeha Saremged gl av 1972
H 39 S § favme gor on wefd AN od
Roliele #, ATST <id I H ATedsd qdd Soff # qer

YT Uedd, w9 Rerd dreard qda Ao § Rerg Bl

qeSd 1 Al il (1848-1918) B HIMG el HI TRATH
T Il Bl a9 1921 ¥ YHIRG Ia! G T
fSragfol’ (Human Geography) # S8 A9darg &1
Rigid TRgd xh A it Bl U 59 & wu A
zeqio fesanl

71. wrgdreR FEfafEa | @ fSae sgam @ 3§

WP Bl 32

O EREIRENI (b) AT TS

(c) ATVET ISt (d)ary g9
SIR—(b)

faNIaN

STSAMICY MPRIE Tl Tl el o aTsi-aTsiIcor

(Evapotranspiration) &I 3TJAT @RI H WERIG 81T &l

72. USsY St A B B UM, 396 forg H- Afe
TP i 7

(@) IHY (b) TS
(c) faerfam (d) Y &7 (1 Feer)
FAN—(c¢)

TSITSH SR B HIY S T A TR A g9P foIg
eI o rawardar Bl Bl 9gd AR USITSH &l 61
1 e fqeif g § el SuRefer & SR &l
BRI USTIgH AU~ B Ul B

73. W) Wi @ g?

(a) STERTH siiaTSS (b) sgEiRam
OELEE] (d) grsfeaw siiwags
FAR—(a)

) Tl (D,0) BISgIoH & Udh FHRefHe (gdie)
SIEIRIH AT SRS H b AH 2l SISIRTH B
IR BISSIoM & 19 | 1 SIHT 1T ®1 WY STel @

TIARTH sifaarse & w1 | il S S B

74. fafafea & d 5 wm=ra: Ui R’ @R
A 7
(a) e (b) TSR
ONERLN (d) e (W)

SR—(b)

13)



TSRS R & €1 & 9o s arer & 397 &t
e Aar B SN T g2 wu A qremdl § 5T o 9ag &
FHUR TR gY e Bl S RO AMa: 39 s
e’ At wg1 < Bl

75. ‘TMgARNREA T g

(2) o8 # Tl a1 fawra

(b) THE H HH R TS AT

() HiReTISH B1 931 gN DY

(d) w7 s S et fawmRya g
SR—(a)

TSRS (Y gfE) I8 A BN e &

M (ROM) I 31 3fell HHIRY srarweiiel AART ©
STafd XA (RAM) arsaefier (Volatile) HARY B Bl I8
T B IR g 99 HPex HRIAE T&dl gl FRE B
T I TR XH W IR A AN FA B S B
STafes I H HHRI A HgeR & 48 8N W Al e
T B B 3 BT A AERY By R srarasfiet
FARY +f FEd B

79. M FYRT A WG fIva § dF-A1 B @R

o wiman AR werd 37

() 3TS. T 1.3718.31T8 (b) T.TH A1 3MTE 37T,

(c) BreRer Pre OERIRIRSISIER
X—(b)

PR I g arell fIaR Bl 39 fAer # goul &
W W oY BN (SRS & FH a1 i gEe
(TEEIoH) @t gfg & FROT A 9 SIf¥E I9R M
NSRS

76. ax<p faf=on &1 e Ry o e 3

(a) ISR (b) ST (TERMARR)
(ORI (d) BIeMIex
FIR—(b)

3ra<h fafdon (Infrared radiations) T TaT SATTATHY
(aTeRIHIER) | <RI ST Bl

77. eAnfiea wrEh @ Scafia der ol @ g2
(a) fagg-gaera fafdror
(b) Bs (FafFIerT) F TR MR FAY a1l Selde =
(c) Fe® gRT SR AR o1
(d) ST BT

SAR—(b)

Jfeanfoea ar | swafla dier (p) fawor e
AP T e (feierd) AR SR g arel
ESECIE R

78. famfofa § @ P Fuex B 39 sarsaeia
Bt 7P
(a) ¥ (TR .U.TH.)
(b) 2 (S1.91R.7.74.)
(c) ¥ (TH.3MR.T.TH. )
(d) ¥ (3= .3N.TH.)
SIR—(d)

I HTT H HRTT LS DIS BR FHHIA
e (ASCII) B F¥R< fawa § WA fawan <iram §
AR W R

80. <ot ®a ¥ o d & d-w a9 S

a9 8R® g7

(a) QRIS (b) STSURICHTS

(OFENRELIES] (d) Srnfram
SaR—(b)

Sellg =it d e e Udel &TRG Ssuidedrg
=il

81. afha I o MR WY ¥ MAER] FIRT 6 o
¥ form TIEEIoE F RIF IR TAN B AR 7, R

2?7

(a) Dferas (b) S

(c) et (d) 3T
JA—(a)

Biferad M 31fsha T AR RIS o1 Ao MarERy
ERT A o o oI TRINT 1 STl § ifp 31fdres <19

R Bifera™ ¥<h ¥ &4 faora Bl
82. ‘wrRNNT fhad sremEE §?
(CIASNISIERIN (b) ST ATTHH
(c) 3tfrarerd (d) e ScUTEH
J—(a)

e Aifdel of ag w3, e srafds =
AT I HRA G D AITAT BT eI faam e
H

(14)



83. faorell fIRA A @M a1l Joa W gama & fog i
ARG IR AR A1erd g R ¥l afd Al -
(a) Afd S 37T AP W I91¢ S A1y o
¥ frm g
(b) 38 TP ¥ TN S @1fRY, W =i 7
PR & BT I &
(c) SHTER B P MHR P BT ALY
(d) foR=fY ofY e 1 &Y AT B
TR —(a)

afed areied BT nfdwpR oA Spford =1 fbar ol 31
Y O 31 a9 1 o1 A1y s i
fFR Bl 38 A HaAl Bl RN fagd | e &

ISINSRIPIRSISIE]

84. frefafa § & a9 39 A 4371 ‘IR {7

(a) eI (b) R
(c) e (d) URfgan
FTR—(b)

SR @t ga1 ‘IR’ (Birr) 81 39 ' sREfEE 9
T ST & Siafds TeIfrar &t ga1 g7 (Kroon), TFI

@1 a1 ‘Shep' e URTeaAT & a1 TRica a1’ gl

85. W& g4 faaw Aed REBR Ry o3 §?
()6 (b)5
()7 (d)4
BAR—(a)

A REPR TS Ay wif, aifee, Wi, A,
faferear fagm iR eferes wfkd oat 6 &1 4 e
ST Bl 39 YREPIR Bl AT SFHISE & AATHRS
3TApS Aad 71 1895, ¥ {1 o1l ugel Faa uia &3
H I REBR Y&M fhy S | iR & &3 § I8

Y 1968 A WreH & Agel 9% gIRT UG fhar i Bl

faeq sfifesw (I faw) ufcay 2 eiied & A= S
Bl siffesH va Sifed fasmares e g S 6 amfors
| Hefed 2l

88. ‘dcs 9IS A9’ &I AMNfAHR fhwm fan?
(a) AT S99
(b) fom gikf-h
(c) FET o
(d) IR A= SrHAfer
BIR—(b)

WWW - World Wide Web @ wifara w9 81 ge-ic &l
3 WOl & Uacid Heex e fon el (Tim
Berners - Lee) gl

89. ' T RaxX wiw’ Su=™ fFad gy foret 18°?

(a) T IR (OERNEINC
(c) fasm e (=S
FR—(a)

"R g R el Tdd e BraR gIRT ford) 18
2l SHP TR Ja TH1eH gIRT a9 2014 F fovan
o7l XN BRIR Ugell AT oiRgedr g g 3ion
o7 # foren R

90. HH-Y W ¥ v A wem Yaaed #dex 4
ImafoE @ TE &A?

(a) Wi (b) ST
(c)g.UE . (d) germe
FAR—(a)

faeg @1 v geraRerd Hiex 39 wia # 1895 % #
ST 1 T o1l I8 N UR¥ | aifSsiiad ga: Uk
T Pl 1,178 Tel. i ot

86. dfeivea giot Fmfoaa # 3 faes forg & s g2

(a) B (b) a1 fagR ()
(c) TR (d) gfent
ITR—(b)

Ifefred el 1 ey = fAgR (R57) Wel & 2

87. fava siifew (smafdeg) o= faaw1 a w9 wIren

3?

(a) 1 3T (b) 2 3riret

(c) 3 3brel (d) 5 3
JIR—(b)

91. a4 2015 ¥ fa=a fasm AR NN & forg =

RIS EIR A Al QREPR W foba en?

(a) 3TRIg, PO (b) M. AAFRR g

OEIRGEE! (d) RaderE
FAR—(b)

14 3FRA, 2015 B WHAR ARAMRR ad] Bl g
a9 IR i & forg afifted TR we Ak RER
o Tl af 2015 % fore S9! fasm vd drenfirat &
&= ¥ fHy T IS AR FEl v I8 REBR UGN
o Tl

as)



92. ‘UcmEl’ e fasm § O fefafa 3 ¥

T s fdan < 37

(a) Bt & (b) AFI-TAERI H

(c) Il b T+ I (d) 57 A g TE
SIR—(a)

"gemeren’ fasm & g ar § ORI e (Insects)
1 3= fohar SIrar Bl

93. fAafoRea § & d-w1 IR a1y wguas =G B?
(a) TEHR P SRITSS
(OEESEEEEIESIES
(c) BTESIHTE
(d) gt
SWR—(d)

g3Tt IR I U e 8, STdfdh SSQIDIEH, THhY &
JifaTSS 3R AREIOH & Sifaargs I a1g Uy &l
¢aTt T PIeATTS § S gaT # SR SI4, 59 Td 4l

96. THUMI IARVY Byl Rera B2

(a) SFANTS, oI (b) &I, <7H
(c) I ef®, Rifdma (d) DI, TS
FIR—(b)

THUMY FRIROY IRTH b P ATl wrd IRy &5
H Rerd gl I8 AWIRTY THUR & A T2 gaild e
IR FTeR R & forg srcafdre ufig B I8 <% 9@
T 92 fF g7 B

97. fafafm 3 | S $Hw w9 A Hor F9 aran
T 7P

(a) TARSH (b) Wl IR (HaeToT)
Okt (d) RgghretrE
FIR—(b)

TERCH, Y3, RPN B HIoT = aTdl TGRS
(Sweetener) € STafth Wel BRI (WhaeIST) Hell o AT

¥ o A s a1 B 2 B AT MR AR B

94. frafafaa 3 ¥ R S oifp o7 arsdis dew’ 98, Fmfafe A & fbw vt 3 amean w& 37?
Pyl Sl g7 (a) BIREHIRG 37
(a) e (b) AT SISO Hiehe
(b) wdrew (c) STEAITETH EgSIoH Hiebe
(c) Hiefs (d) T Biere
(d) 3,791, (| .31.3MRT) FR—(c)

SR—(a)

ST 1 VT gl R Siell B i W & pRoT
gl SITaT Bl el IR 4T 1,88,000 sfiet faere= 81 s
el R AR o1 Pl % U F T ATHA B
10 wferera B

95. w1 3@ St ‘WH e’ & AW | A R, AfdA
<t miRRfIa 6t gfte & smedel 3, dF-w1g?

(a) gHferes (b) 9e &1 (TX15)
(c) diget (d) s & P T
SaR—(a)

Y a1t & 319] & BIS SIS F IRATIS ol a8 fdaq
e ORI FeReITO Tq b URHATU EIRT & el &
I 3T DI FREA Fgedl gl

BRPIRS TRre (H PO — 3H + PO , ) & &TRepd 3
2l 3 S

AfeTw SEEESeT Bivhe AR ARSTH Hrbe T &

I
¥ OH -~ ‘ \O'Naf
OH

Ydfeled Bl AN Tes’ & M A SIHI ST 8, STafd
g wIRRerfcre! 1 gfte & smeiaR) Bl 39 981 & u<hi A
A % BT I Y WY | I 91 A IS ®
9P Tl b 3TTar Siel | Y RIS & | P BT qrY
Y B BTeifds A STereNyol & HIROT g g&l 3T~
U B 9 Bl ISR g1 7@ 2| saferg qiRkRerfra i
3fe 9 ug gfeRs 2l

X! &R 2 B Bl
AfeTq gsSIoA Biehe & &RGA 1 8l Bl

0
I

P
OH O'Na'
O Na' a

(16)



99, fAmfoRea ¥ Q@ -1 T O U /R &

¥ s T s 32

(a) fa=rer &1 e (b) ESR &1 Id

(c) TR & dd (d) ST T A
SR—(d)

ST & el BT SUANT Ue & FHEior § g fear s
2l

100. 37 qui WY & fHaS gRT YU &6 BRI
B B ?

(a) B SRS S 3R ATSSISH

(b) BT AARITRITSS 3R HHT SERifRITsS

OEISIEE IS ESIESIES

(d) TS IMTRATSS IR Ao SISITRITSS

SA—(%)

I 99T GATaRT H Aseioi JifrTss 3R e
STE3IfaATSE & UGNV & HRYT BIil gl i auf &
PRV ST WIORIT 1 9y, Us-del Bl gig | 514 S
TR g &l SURIh fddwed (d) H TRgiom sifadrss
P T 1S Iifaarss fam T g, a1 fawe (d)
Terd B

Directions : In questions no. 101 to 110, some parts of
the sentences have errors and some are correct. Find
out which part of a sentence has an error and blacken
the circle (®) corresponding to the appropriate option.
If a sentence is free from error, blacken the circle
corresponding to "No Error" in the Answer Sheet.

101. Ashoka the Great was / regarded one of the

@ (b)
greatest emperors/ the world has ever produecd./
©
No error
(d)
BaR—(b)

9T (b) Yol Bl T8l 'regarded’ & TTATT 'as' B
ERINASIER ]

102. Will you please/give me little milk/ for my cat?/
@ (b) ©

No error
@
IR—(b)

areater (b) Iyt B A=t little' % M TR 'a little' 1
AT I B little' BT 1) B 7 PO a1, ‘a little'
%1 1 BB (AT) 3R 'the little' o1 21f Brar g S
FB Al 31 A= "a little' o1 WA Sfer R

103. Thelight bulbs/ on the hall/need to be changed./
@ (b) ©

No error
@
IR—(b)

areater (b) Ffeqet Bl Tl Preposition 'on' & oI TR
'in' ST TN I g

104. A recentsurvey indicates/ that the number of drug

@ (b)
addicts / grew day by day./No error

© @
FAR—(¢)

areater (c) el Bl T-T 'grew’ & TRA TR 'is grow-
ing' &1 WA 3o Bl

105. Iwant to exchange/ my Maruti/from a Santro./

@ (b) ©

No error
@
FAR—(¢)

araatel (c) Ffegel B F-t e ‘exchange' & WA
Preposition 'from' & %I WX 'with' &7 1T 3fd =l

106. There were extensive /lawn in front /

@ (b)
of the bungalow./No error
© @

FaR—(b)

GIGRIN (b)@%ﬁ;ﬂf 21 I8l lawn' & I TR 'lawns' Bl
TN 3fa Rl

107. Wise men follow nobel/ideas whereas fools/
@ b)

disregard them. / No error

© @

FAR—(a)

a7



T (a) I BI A-T T 'nobel' (a Swedish chemist
remembered for his invention of dynamite and for the
beguest that created the nobel prizes) % I TR IR

'noble' (51 5, ARSI, ST, TTH) H TN I

2l

108. The navel officers / successfully fought the
@ b)

pirates / who had looted and plundered for many

©

years./ No error

@
SaR—(a)

e (a) Yol Bl TR AR B HeH T Wi &
TR &R 'navel' (e, 1) F TIH TR 95 'naval'
(Arafe®, TR @ T S Bl

109. He acted not/as per my advice/ but somebody else.

@ ) (©)

/No error
(d
FaR—(¢)

qreter (c) el B -t ‘else’ & I WX ‘else's' H
T 3fd B 'somebody else, everybody else' @1
Possessive form 'somebody else's, everybody else's'

BIaT ®l 31 fadey (c) 98l SN =l

110. The chairs in the/ room are in a/ state disarray./

@ b) ©

No error
(d
FaR—(¢)

fh I # verb 'creep' (G4 Uid F&A) & Past Form
'crept’ &1 TN S Bl

112. The specialist you want to meet is

available only on Thursdays.

(a) which (b) whom
(c) whose (d) who
SIR—(b)

R<h %19 # 'whom' (Objective or Relative Pronoun)
%1 9T 3 B

113. Donotlook___ onwomen.
(a)up (b) down
(c) right (d) left
Fu—(b)

'look down on' U@ phrasal verb g forer aref ® faedt
@1 fr= Ife @1 |Fasmr a1 {6 @ Jrgen (lower)
Tl 3t R<p I # 'down' &1 TR Sfd B

114. 1 him on this point.
(a) agree to (b) agreeing with
(c) agreed with (d) admitted to
JAR—(c¢)

Rh I # Prepositional phrase 'agreed with' T TRIFT
I 2l

115. They __ living here since 2000.
(a) are still (b) have been
(c) are (d) will be
SWR—(b)

areater (c) Ffeqot Bl F-H state disarray' & wIF TR
'state of disarray' &Il T S B

Directions : In questions no. 111 to 115, sentences are
given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each
question. Choose the most appropriate alternative out
of the four and indicate it in the Answer Sheet.

111. The Stranger in through the window

last night.

(a) creeps (b) creep

(c) crept (d) creeping
SuR—(¢)

fR<h %219 # 'have been' &1 TN IR Bl aTHT A
Present Perfect Continuous Tense &l 9Td Uhe 21 V&l

2l

Directions: In questions no. 116 to 120, out of the
four alternatives, choose the one which best expresses
the meaning of the given word and mark it in the An-

swer Sheet.
116. Caliber
(a) Career (b) Capacity
(c) Calmness (d) Crowd

SWR—(b)
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97eg 'Caliber' (&T9d1, AMRID 9Ifh, el &1 <A™, ol
@1 faR) &1 aAreil 2eg 'Capacity' (&7, AW,
9IRRp) B =TI I -

Excellence, Level, Diameter.

121. Evasive

(a) Categorical (b) Indefinite
(c) Explicit (d) Unclear
BR—(¢)

117. Consciousness
(b) Understanding

(d) Awareness

(a) Vision
(c) Nothingness
FaR—(d)

91eg 'Consciousness' (eI, I, AT) B GATFaT
&g ' Awareness' (SIS, STH®RI, SRTHST) Bl 3T
g o B

Cognizance, Perception, Sense.

118. Hesitate

(a) Resolve (b) Determine
(c) Pause (d) Settle
BR—(¢)

3% 'Hesitate' (fafdam, \agar) & wweis e
'Pause’ (F&HT, S Bl 3T Il e &

Waver, Vacillate, Falter.

119. Wander

(a) Race (b) Wrestle
(c) Gallop (d) Roam
FAR—(d)

v 'Wander' (1, T8I, TR, W1, d8H1)
%1 QITIaTE! ¥eq 'Roam' (==, T84T, FATHBRA) Bl
3= I 9 B

Stroll, Stray, Amble.

120. Persuade

(a) Deter (b) Hinder
(c) Coax (d) Restrain
FAR—(¢)

9% 'Persuade’ (SHATT, HSHHI, HACHI, HAT) B
TITaTE e 'Coax' (I, GHAMI, FAH1, USIH)
HERRERIREE-aS

Prompt, Entice, Coax.

Directions : In questions no. 121 to 125, choose the
word opposite in meaning to the given word and mark it
in the Answer Sheet.

3 'Evasive' (U<, Huequl) o fawdiafs o
'Explicit' (e, o) gl 317 fIam wreg &
Forthright, Straight, Direct.

122. Hostility

(a) Enmity (b) Friendship
(c) Partnership (d) Relationship
JaR—(b)

31 'Hostility' (3R, faxiy, wrgan) o1 fadrmeie o
'Friendship' (S1H, frEan, @) B o=y faem o &
Sympathy, Kindness, Happiness.

123. Assent
(a) Separation (b) Confusion
(c) Dissent (d) Self-interest

FAR—(¢)

315 'Assent’ (3FT@R, AR, TR=Ta, wwiH, WeAf)
Pl faeiei® 2reg 'Dissent’ (FrarR-faf¥=ar, srrgafq,
faxy, faamfy) B o faeim v &

Disagreement, Denial, Disapproval.

124. Virtue
(a) Fool (b) Vice
(c) Untrue (d) Defeat
JaR—(b)

31 'Virtue' (01, &, THIERYT, AR, IRTG, A
[T 1 A Weg Vice! (3, FaT0l, IRFET,
TR B 3 el weg -

Evil, Wildness, Immorality.

125. Relentless

(a) Gentle (b) Sensitive
(c) Yielding (d)Kind
SaR—(*)

g Gentle, Yielding 3N Kind 1 € Relentless &
faganelt vreg Bl ora: fal +ft v fAwey @1 SR &
w0 H g9+ T8 {1 S wawar 31 T.T. L g1 SR
TIR-UFG H 39 T BT SR fadwed (c) feam Rl
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Direction : In questions no. 126 to 130, four alternatives
are given for the Idiom/Phrase underlined in the sentence.
Choose the alternative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer Sheet.
126. Our parents allowed us to watch films once in a

blue moon.

(a) everywhere (b) rarely
(c) secretly

FaR—(b)

(d) forever

gifdhd araater (Idioms/Phrases) T d1cqd § 'rarely’; a
phenomenon which happens rarely. (ISFb<T; 98T $H)

127. Hold your tongue, my lad ! I'll deal with you later.
(b) Be silent
(d) Gargle

(a) Stick out the tongue
(c) Cool the tongue
IR—(b)

Ygifded areIer (Idioms/Phrases) &1 a1y ® be si-
lent; not to speak. (2 ¥gT; U V&)

128. Ifyou read his letter between the lines, you will

find that he has no faith in his colleague's honesty.
(a) strain your eyes
(b) read in secret
(c) find out the inner meaning
(d) read an untidy letter
FaR—(¢)

Ygifdrd arerer (Idioms/Phrases) BT Arcqd fadded (c)
'find out the inner meaning ¥ &l 'To try to under-
stand what is meant by something that is not written
explicitly or openly' 3irfa fsu g HIq P A,
Sfafifed simer frarerl

129. The lawyer insisted on having the contract in

black and white.

(a) in writing (b) orally

(c) figuratively (d) obliquely
SWR—(a)

giferet qrarier (Idioms/Phrases) &1 Acqd & 'In writ-
ing; on paper and in writing; inprint; officially; g1’

foRad wu # wur garl

130. The teacher was taken aback by the student's
remark.

(a) annoyed (b) surprised

(c) hurt
SWR—(b)

(d) pleased

Ygifha aragier (Idioms/Phrases) &1 dcqd g 'sur-
prised; to surprise or astonish; confused or surprised
by something unexpected' ' a1’ @fdra g ST

Directions : In questions no. 131 to 135, the first and the
last parts of the sentence/passage are numbered 1 and
6. The rest of the sentence/passage is split into four
parts and named P,Q, R and S. These four parts are not
given in their proper order. Read the sentence/passage
and find out which of the four combinations is correct
and indicate it in the Answer Sheet.

131. 1. Usebright, cheerful, favourable words and

phrases to describe other people. Make it
for all you friends and associates.

Be extremely careful

arule to have a big, positive word

toavoid

P rRO

. the petty cut-him-down language.
(a)PQRS (b) RSPQ
(c)RPQS (d) QRPS

JAR—(¢)

TR BT Ael hH - fa=IRT RPQS B

132. Along with the orthodox Hindu's

1.
P. and in the deity,

Q. Raghupati has his Brahmin's pride
R. faith in the scriptures

S. because he is the

6.

lord of the temple.
(a) SPQR
(c)RQPS
FaR—(b)

(b)RPQS
(d) SQPR

TR BT Ael A - fa=Isg RPQS &

133. 1. My grandmother was an old woman.
But that was hard to believe.
And she even had a husband.
People said that she had once been young
and pretty.
She had been like this for the twenty years
that I had known her.
6. She often told us of the games she used to
play as a child.
(a) SRQP
(c)RSPQ
SIR—(a)

I BT Fal A - fa=IT SRQP &l

O™

A

(b) QPSR
(d)RPQS
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134. 1. Itis the twilight hour.
P. The sound breaks the still silence around
me.
I turn round and see her seated on a rock.
I hear more bells behind me.
The temple bell rings in the distance.
Her eyes sparkle like the anklets on her

o RO

swinging feet.
(a2) RSQP
(c) SQPR
FuR—(b)

(b) SPRQ
(d)RQSP

qreFg BT A2 A - fa=ard SPRQ B

135. 1. Anofficerin Andhra Pradesh

found that the tribals put

materials in turbid water

who was in charge to tribal development
certain gums and wood

S wEOo T

to make the water clear.
(a) RSPQ (b) PSRQ
(c)PQSR (d)RPSQ
FIR—(d)

IR BT A8 A - fa=md RPSQ =

Directions : In questions no. 136 to 145, a sentence has
been given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active Voice
and mark your answer in the Answer Sheet.

136. Drinking was ruining his life gradually.
(a) His life was being ruined gradually by drinking.
(b) His life is ruined by gradual drinking.

(c) Gradually, his life is ruined because of drinking
problems.

(d) Drinking problems caused the gradual ruin of
his life.
T —(a)

1 TR Active Voice aTed Past Continuous Tense #
Bl SH@ Passive Voice Ax<=T foead gifl-
Sub + was + being + V' + other words

3ra: fawe (a) A& SR BT
His life was being ruined gradually by drinking.

137. A small epitaph had been laid out by them in his
memory.

(a) They laid out a small epitaph.
(b) They had laid out a small epitaph in his memory.
(c) They were laying out, in his memory, a small
epitaph.
(d) They lay out a small epitaph in his memory.
SIR—(b)

f&@m w71 9199 (Passive Voice) Past Perfect Tense gl
9Pl Active Voice I¥aT fead gffi-

Sub + had + V3 + other words

31a: fawed (b) el SR BT
They had laid out a small epitaph in his memory.

138. The nurse is giving food to the sick boy.
(a) The sick boy is given food by the nurse.

(b) The sick boy gets food from the nurse.

(¢) The sick boy is being given food by the nurse.

(d) Food is given to the sick boy by the nurse.
FAR—(¢)

<1 AT Active Voice aTd Present Continuous Tense
§ 2l 39 Passive Voice G fAerad grfi-

Sub + is/am/are + being + V' + other words

3ra: faded (¢) el SR B
The sick boy is being given food by the nurse.

139. Our parents have taught us to behave properly.

(a) We have been taught to behave properly by
our parents.
(b) We were taught how not to behave properly

by our parents.
(c) Our parents taught us how to behave properly.
(d) Our parents have been teaching us how to

behave properly.

TUR—(a)

f&am T Active Voice 91dd Present Perfect Tense 3 2l
P! Passive Voice TR Aead grfl-

Sub + has/have + been + V' + other words

31 faded (a) ! SR B

We have been taught to behave properly by our par-

ents.
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140. Why did your father refuse such an honourable
job?
(a) Why was such an honourable job denied by

your father?
(b) Why does your father refused such an

honourable job?

(¢) Why is such an honourable job refused by
your father?

(d) Why was such an honourable job refused by
your father?
JIR—(d)

I Active Voice 31 I TEdTEa H 8, A Ugcl 59 a9
P Assertive Sentence (FTEIRYT ITRI) H gGeTdx Pas-
sive Voice 910 & qaeard a1 gs Passive Voice @

Interrogative ¥ 95l &l 39 THR f[ddbeq (d) A8l S 2l
Why was such an honourable job refused by your
father.

141. James Cameron directed the Titanic.

(a) The Titanic has been directed by James
Cameron.

(b) The Titanic was directed by James Cameron.

(c) James Cameron had directed the Titanic.

(d) James Cameron had been directing the Titanic.
SWR—(b)

f&am T 919 (Active Voice) Past Indefinite Tense ®

Bl 39PI Passive Voice UTeY fSF=1ad 21T-
Sub + was + V4 other words

31a: fawed (b) el SR Bl

The Titanic was directed by James Cameron.

142. Mr. Dutta teaches us English.
(a) English is taught to us by Mr. Dutta.

(b) We are being taught English by Mr. Dutta.
(c) By Mr. Dutta was are taught English.

(d) We have been taught English by Mr. Dutta.
TAR—(a)

AT TRIT Active Voice a8 Present Indefinite Tense &

Bl 3P Passive Voice UTY fSF=Tad 2rTT-
3

Sub + is/am/are + V'~ + other words

English is taught to us by Mr. Dutta.

e -gqE ¥ Q) Object SyRed ¢ us and English, g9
I H A 5 @1 it 89 Subject AR Passive Voice
I 991 Fad ol 39 TSR SUYh a1 Bl T M
Passive Voice a1 BFT-

We are taught English by Mr. Dutta.

143. Has the postman not delivered the letter?

(a) Has the letter been delivered by the postman?
(b) Has the letter not been delivered by the
postman?
(c) Is the letter delivered by the postman?
(d) The postman hasn't delivered the letter.
SAR—(b)

o T 91 Active Voice ¥ Bl S9! 'Passive Voice'
R A B
Has + Sub + not + been + V3 + other words

3ra: faded (b) FE SN =l

Has the letter not been delivered by the postman?

144. Johnis building a new cupboard.
(a) John has been building a new cupboard.
(b) A new cupboard is being built by John.
(c) A new cupboard is been built by John.
(d) John's new cupboard is being built.
SIR—(b)

f&am 1 ardg (Active Voice) Present Continuous
Tense ¥ 2| S Passive Voice § g5 & U are
AR a2

Sub + being + V' + other words

3ra: faded (b) I8! SN =l
A new cupboard is being built by John.

145. Someone will pay next Monday.
(a) You would be paid next Monday.

(b) Someone will be paying you next Monday.
(¢) You will be paid next Monday.
(d) Someone is going to pay you next Monday.

JAR—(c¢)

&1 I 9197 (Active Voice) Future Indefinite Tense
# 2l 39 Passive Voice § 5o & forg areg v
fad &

Sub + will + be + V' + other words

3ra: fawey (c) wg! SN =

You will be paid next monday.

Directions : In questions no. 146 to 155, a part of the
sentence is underlined. Below are given alternatives to
the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement
is required, choose "No Improvement" option. Mark your
answer in the Answer Sheet.
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146. The car with a burst tyre halted swiftly.
(a) stopped quick (b) stopped fastly
(c) jolted to a halt

FAR—(¢)

(d) No improvement

Ngifdha areter 'halted swiftly' & I TR 'jolted to a
halt' &1 TR 3 2

147. Many incidents of the last month seem
unimportant when viewed in perception.
(a) prospective (b) perceptive
(c) perspective (d) No improvement

FAR—(¢)

Nifdhd aTaaie 'perception’ & I TR ' perspective'
(aRvear, genef, TawY) &1 TN 3 Bl

148. The youths jostled their way in the crowd.

(a) over (b) through
(c) among (d) No improvement
JaR—(b)

Ngifdd areaTe preposition 'in' % M TR ' through'
E2R R IASIECR]
JaIeNYl - | jostled my way through the mob.

149. What is wrong with the argument is that even if
the two premises are true, then the conclusion

isn't necessarily true.

(a) the conclusion will be true

(b) the conclusion is false
(c) the conclusions aren't necessarily true

(d) No improvement

ITR—(d)

Nifdhd Ao 'the conclusion isn't necessarily true'
H {5 ToR & GuR @l STawaddl el gl 31 dal
IR fawed (d) gl

150. Heis entitled to a reward for honesty.

(a) titled (b) entitle to
(c) entitled (d) No improvement
FaR—(d)

I ¥ IR B AT ol B

151. The sight chosen for the school building is good.

(a) site (b) eye-sight
(c) side (d) No improvement
TuR—(a)

1 H 'sight' (329, 3fte) & WM W 'site’ (eret, fmfor
Q) BT TN BT

152. The matter must be considered in every point of

view.

(a) from every (b) at every

(c) on every (d) No improvement
TaR—(a)

Ngifehd aragie H 'in every' & XM WR 'from every' &1
ERINASIEC RS

153. The poor villagers have waited in the bitter cold
for more than two hours now.
(b) had waited

(d) No improvement

(a) has been waiting
(c) have been waiting

FAR—(¢)

gifdrd aragier # 'have waited' % I TR 'have been
waiting' (Present Perfect Continuous Tense) &1 W1

Sfra Bl

154. You must accustom yourself with new ideas.

(a) accustomed with (b) accustom to
(¢) accustom yourself to

FAN—(c¢)

(d) No improvement

Ygifded aTERITeT 'accustom yourself with' & 19 TR

'accustom yourself to' &I T S R
'accustom yourself to something' means 'to make your-

self familiar with new conditions.

155. Willyou lend me few rupees in this hour of need?

(a) borrow me a few rupees

(b) lend me any rupees

(c) lend me a few rupees

(d) No improvement
FAR—(¢)

Ngiferd arearel 'lend me few rupees' % I WX 'lend
me a few rupees' &I TI1T 3T Bl 'few' &1 Areqd BT §
'PB el 6 'a few' B A & PO
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Directions: In questions no. 156 to 165, a sentence has
been given in Direct /Indirect. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Indirect/Direct and mark your answer in the
Answer Sheet.

156. Shesaid to him, "I have bought a new car."

(a) She told him that she would buy a new car.

(b) She told him that a new car has been bought
by her.

(c) She told him that she had bought a new car.

(d) She told him that she has bought a new car.

FaR—(¢)

& a1 9t (Direct Speech - Assertive Sentence)
Present Perfect Tense & @l Indirect Speech ¥ gRafda
BN b foTT 59 Past Perfect Tense & T 'has/have
gone' ®I 'had gone' W 95 Tl I - TFT | Report-
ing Verb Past Tense ¥ g g gzara object 'him' &1
T gaTT 8l 37d: Indirect Speech # 'said' fra#d: 'told'
H 9go SIYM T2 Reported Speech # 'have bought'
'had bought' # Rafdd 8- &R Pronoun 'T' 'She' §
gee ST 37 fdded (c) Wel ST B

157. Isaid to him, "You are wrong."
(a) I told him how wrong he was.

(b) I told him that he was wrong.
(c) I said that he was wrong.
(d) I told him that he is wrong.

FaR—(b)

f&ar /a1 e (Direct Speech- Assertive Sentence)
Present Indefinite Tense § Bl 9 UBR & a1l @I
Indirect Speech # URafd &< # Past Indefinite Tense
B AR B B Reporting Verb 'said' @ 'told B
(1% 'said' & ST object 'him' ¥) T2T Pronoun 'you'
Bl 'he' & TG 'are' BT Person $ AR 'was' H 9o fea
ST R 31 fded (b) W& ST 2

158. Hesaid to me, "You are late."
(a) He said to me that you were late.

(b) He said to me that I was late.
(c) He told me that I was late.
(d) He told me that you were late.

FaR—(¢)

f&an wrar 9red (Direct Speech-Assertive Sentence)
Present Indefinite Tense ® 1 Indirect Speech # are
Pl gGo1 &b foTy Past Indefinite Tense &1 TAT faw
SIGIEER Reporting Verb 'said' - Past Tense ®h M
9fd Object 'me' & ST Indirect H 'said' &I 'told' H
ool T g1 Pronoun ’you'Ef?f T'H Ud 'are' B 'was'H
Rafdd w= < Bl 31 fadeu (c) 98l Sx =l

159. The teacher said, "Be quiet and listen to my
words."
(a) The teacher said to stop talking and listen to

her words.
(b) The students were told be quiet and listen to

her words.

(c) The teacher asked the students to be quiet
and listen to her words.

(d) The teacher shouted students listen to my
words and be quiet.
JAR—(c¢)

f&U 71 a1@ (Direct Speech-Imperative Sentence) &l
Indirect Speech # 9&a™ & oy Reporting 'said' &I
g &b SSUIN I ol Imperative Sentence T Sub-
ject (@) fisur Y& Bl Reported Speech @1 Verb &
Tga 'to' GﬂW Infinitive 97 914 § 92T Pronoun b
Person & 31X (I8 'my' @ 'her') 981 I Bl 37
fadeu (c) 98! SR B

160. He said that the book was very interesting.
(a) He said, "This book is very interesting."

(b) He said, "This book has been very
interesting."

(c) He said, "This book had been very
interesting."

(d) He said, "This book would be very
interesting."
JA—(a)

& 711 9@ (Indirect Speech - Assertive Sentence)
Past Indefinite Tense & 2l Igi Direct Speech & faedd
¥l &1 7T ST 71 Indirect § UYH 'that' THS
conjunction &% I U comma (, ) T & AT Re-
ported Speech @' inverted comma ("............ ") H TGHR
T ¥TeE % WU &R Pl Capital Letter # forad gl
Reporting Verb 'said' § 3T object T 8 & BRI
'said' & PIS deald T8l YA ol 'was' BT IRTAT is' H
BT 31a: fadhey (a) 98! SR 2
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161. Iasked him whether he had not promised to come.
(a) I asked him, "Did you come ? You promise."

(b) I'said to him, "Did you not promise to come?"
(c) I said to him, "Do you not promise to come?"
(d) I said, "Did I ask you, not to come?"

IR—(b)

&1 T/ ar@d (Indirect Speech) Interrogative Sen-
tence Bl IgT 'asked' B 'said to' § Igoid © T 'whether'
P BTN inverted commas [ ")l TN B ol
a1 aRedE FEAgar fog S & o fade (b)

TR 2l

162. Rahulsaid, "What have you been searching for

all these hours?"

(a) Rahul asked me what I was searching for all
these hours.

(b) Rahul asked me what I had been searching
for all those hours.

(c) Rahul asked what I have been searching for
all those hours.

(d) Rahul said that what you had been searching
for all these hours.

FaR—(b)

f& /1 919 (Direct Speech- Interrogative Sentence)
Present Perfect Continuous Tense & 3 g g &
Indirect Speech # Ig Past Perfect Continous Tense #
ggol SIAT gl g inverted comma F WIMH TR con-
junction 'that' @I € T2 Reported Speech ® Tg<h
'have been searching @' 'had been searching' # Td
Pronoun 'You' &1 'I'# 3R Fdca-gad o 'these' dl
TR-a® ¥R 'those' H 9 <d &l 31d: fIdwey (b) |al

TN B

163. He said to the children, "Come to the park with

me."

(a) He invited the children to come to the park
with me.

(b) He invited the children to come to the park
with him.

(c) linvited the children to come to the park with
me.

(d) T'invited the children to come to the park with
us.

FR—(b)

f&am 1/ @@ Direct Speech - Imperative Sentence ®
2l Reporting Verb 'said' B YT b KSLIN EEELR
Reported Speech ¥ verb & tfcf 'to' Siled¥ Infinitive
(gt 'to come' ) 9T <l & AT Pronoun 'me' @ 'him' #
95 34 B 31 famed (b) W ST R

164. " Ilovechocolate," said Angeline.
(a) Angeline said that she loves chocolate.

(b) Angeline said that she loved chocolate.
(c) Angeline said she loves chocolate.
(d) Angeline says she loved chocolate.

IR—(b)

& = @@ (Direct Speech-Assertive Sentence)
Present Indefinite Tense § g1 Igf Reported Speech
BT TN Ug g g g Reporting Verb CISRIEECR
915 ¥ v 37 2l Inverted Comma & 19 WX 'that'
SRTIA 9211 "love' @1 'loved' ® TF Pronoun 'T' &1 'she’
¥ ggold ol I Present Indefinite Tense PT Past
Indefinite Tense § URaT FxaI B 31eT: fAFweq (b) A=)
S

165. '"Do you know that man?" Ravi asked his friend.
(a) Ravi asked his friend he knew or not that man.

(b) Ravi ask his friend if he knows that man.

(c) Ravi asked his friend whether he knew that
man.

(d) Ravi asked his friend whether he knows that
man.

FARN—(c¢)

f&an 71 919 (Direct Speech) Interrogative Sentence
# 3l T Reported Speech Tl WINT Ugel 921 Report-
ing Verb dTeTl 9RT 915 § vg1 T gl g e afy
Reported Speech # helping verb 'Do' AT 'Does' | TRH
Bl 9T S9d 91 'not' 1 &1, A1 Indirect Speech I
A ITD! gaéé%awgmfﬁsmeﬁ Simple Past
Tense (I&T 'know' @I 'knew') § 95 d &l 31d: faweq
(c) W&l TR T

Directions: In questions no. 166 to 185, in the follow-
ing two passages some of the words have been left
out. Read the passages carefully and choose the cor-
rect answer to each question out of the four alterna-
tives and fill in the blanks.
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Passagel
(Questions No. 166-175)

How old is the Earth? This is a 166 to which we may
never have the exact 167. Man has 168 about the age of
the Earth since 169 times, and there were all kinds of
myths and 170 that seemed to have the answer. When it
was proven that the Earth 171 around the Sun, 172 then
knew where to begin. To find the 173 ofthe Earth, it was
necessary to 174 how the solar system was 175.

166. (a)point
(c) debate
IR—(b)

(b) question
(d) fact

Rh Y @ 166 ® 916 'question' (W) &1 TN
Sfera B

167. (a) reason (b) logic

(c) answer (d) deduction

FaR—(¢)

Rh 3 W 167 ¥ s "answer' (STR) &1 TN

3fera B

168. (a) wondered
(c) thought

FaR—(a)

Rh I e 168 # 9w 'wondered' (Smeardafdn)

BT TN 3 R

(b) marvelled
(d) asked

169. (a) antiquated
(c) olden
JuR—(d)

(b) bygone

(d) ancient

Rh eI R=1 169 # 915 'Adjective 'ancient' (9THH)
%1 7T S R

170. (a)tale
(c) fables
IR—(b)

(b) legends
(d) story

Rh %1 d& 170 # ¥rsE Noun 'legends' (fag,
SqPRAT, YIRTOTE HoIT) BT TAIT 3 2l

171. (a)circled (b) rotated
(c) moved (d) revolved
[WR—(d)

Rh I w%= 171 9 Verb 'revolved' (f5eh 9% &

172. (a) scientists (b) scholars

(c) academicians (d) students

JA—(a)

Rh Y @ 172 § Noun 'scientists' (951®) &1

TN SR B

RIS FHAT AT TRBAT) BT WA I 2

173. (a) years
(c) date
SWR—(b)

(b) age
(d) oldness

Rh I |1 173 9 Noun 'age' (317, 37ael) &
TN SR B

174. (a)tell
(c) recount

ITR—(d)

(b) narrate

(d) explain

Rk woI A& 174§ Verb 'explain' (@11 $RAT) 61
TN 3R B

175. (a)born (b) originated
(c) formed (d) begun
JA—(a)

R<h %I ¥ 175§ Past Tense @1 Verb 'born' T
ERINESIECR

Passage 11
(Questions No. 176-185)

One thing we can do is 176 a good book. Another
is to look at a new 177 conducted by William Mercer, one
of the world's largest Human Resources consultancies.
Mercer decided to 178 some of the world's great cities.
They produced their results by giving 179 for 180 crite-
ria. These included political, economic and social envi-
ronment, healthcare, educational provision, recreation
and transport 181. So, which are the best cities to live in,
and which should we 182 ? In 183 first place were
Vancouver, Berne, Vienna and Zurich, while Sydney,
Geneva, Auckland and Copenhagen came in second.
Swiss cities 184 three of the top ten places, making it the

single most successful country of all those 185.

176. (a) look (b) read
(c) obtain (d) retrieve
FaR—(b)

Rh < W 176 # Verb 'read' (UgHT) &1 T
Sfaa Bl
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(b) research

(d) advice

177. (a) survey
(c) consultation

TUR—(a)

184. (a) occupied
(c) absorbed
FaR—(a)

(b) controlled
(d) vacated

Rh 329 a1 177 9 'survey' (F94eToT) &1 T2 Sfad
B

Rh YeI = 184 W Verb 'occupied' (%1 grfar
HAT) BT TANT 3 Bl

178. (a)proclaim (b) decide
(c)judge (d) rule
FAR—(¢)

185. (a)created (b) surveyed

(c) experimented (d) established

FR—(b)

R<h <=I %=1 178 7 Verb Yjudge' (STTder BRAT) Bl
TR S B

R I & 185 # Verb 'surveyed' (detor fay
Q) B AT Sferd Rl

179. (a) signs (b) spots
(c) marks (d) places
FIR—(¢)

R<h %I &1 179 W 'marks' (37%) &1 TART 3 B

180. (a) various (b) ranging

(c) assorted (d) different

TuR—(a)

R v A= 180 # 'various' (F=-F31=1) &1 T
Sfed Bl

181. (a) ways (b) reasons

(c) facilities (d) versions

FAR—(¢)

R v S 181 # 91 'facilities' (Ffaumd) &1 wamT
fea B

182. (a) escape (b) deny
(c) regret (d) avoid
FaR—(d)

R<h I & 182§ Verb 'avoid' (7 389 I17) &l
TR S R

183. (a)joint (b) dual
(c) united (d) together
TR —(a)

Rh Yo <= 183 7 w1k oint' (WY ©U 4) @
TR 3 B

Directions: In questions no. 186 to 200, you have three
brief passages with 5 questions following each passage.
Read the passages carefully and choose the best answer
to each question out of the four alternatives and mark it
by blackening the appropriate circle (e) in the Answer
Sheet.

Passage I
(Questions No. 186-190)

The London Eye is a giant Ferris Wheel situated on
the banks of the River Thames in London, England. The
entire structure is 135 metres (443 ft) tall and the wheel
has a diameter of 120 meters (394 ft).

It is the tallest Ferris Wheel In Europe, and the most
popular paid tourist attraction in the United Kingdom,
visited by over 3.5 million people annually. When erected
in 1999 it was the tallest Ferris Wheel in the world, until
surpassed first by the 160 metres (520 ft) Star of
Nanchang in 2006 and then the 165 metres (541 ft)
Singapore Flyer in 2008. Supported by an A-frame on
one side only, unlike the taller Nanchang and Singapore
wheels, the Eye is described by its operators as "the
world's tallest cantilevered observation wheel". It pro-
vides the highest public viewing point, and is the 20"
tallest structure, in London.

The London Eye, or Millennium Wheel, was offi-
cially called the British Airways London Eye and then
the Merlin Entertainments London Eye. Since 20 Janu-
ary 2011, its official name is the EDF Energy London Eye
following a three-year sponsorship deal.

The London Eye adjoins the western end of Jubilee
Gardens, on the South Bank of the River Thames be-
tween Westminster Bridge and Hungerford Bridge, in
the London Borough of Lambeth. The site is adjacent to
that of the former Dome of Discovery, which was built
for the Festival of Britain in 1951.
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186. Which of the following does not mean the same

as 'entire'?

(a) Complete (b) Total

(c) Partial (d) Whole
SR—(c)

TIGTel % YR URTATH 3 TRY<h ¥es 'entire’ (AY0T, 3REE)
SURIH fadhed Srea] § & 9 "partial' (3AiR%) | FAF
TRl YT § Wdfd 3T W complete, total, whole
IS 9req 'entire' & GRSt Bl 31 fddey (c)?:@
IR 2l

187. The highest viewing point is provided by -
(a) Westminster Bridge

(b) Hungerford Bridge
(c) Dome of Discovery
(d) Millennium Wheel

IR—(d)

e & fgdia IR @1 sifow dfp | ==l o1 TS ©
& g1 o 2= A (Thames River) & &R Rera
London Eye (Ferris Wheel) e a1 AIdSid Sdalid
fdg (Highest public viewing point ) & oI I8 &g &
2091 |9 a1 @i gl Ferris Wheel &1 379 -4
London Eye 3121d1 Millennium Wheel Bl ard: fadpeu

(d) WEl ST B

188. The structure built for the Festival of Britain in
1951 was -
(a) Millennium Wheel
(b) London Eye
(c) Dome of Discovery
(d) Jubilee Gardens
FaR—(¢)

orgter & sifcrt RTaTes 6t sifom ek # Tl o6 iE R f
9§ 1951 ® 'Dome of Discovery' & 70T 'Festival of
Britain' & ferg fosam Tl a1t ey () gl SR B

189. The London Eye is situated on the banks of -
(a) Westminster Bridge
(b) Hungerford Bridge
(c) The Thames
(d) London Borough
FaR—(¢)

<TG & v RTINS & fg<iia URe & ==t & s 7 i
London Eye &% fdoel $ART oied § R i<
(Thames river) & f&R Rera Bl o fAde (c) &
Sikkd!

190. The tallest Ferris Wheel in the world is -

(a) Star of Nanchang (b) Singapore Flyer
(c) Dome of Discovery (d) London Eye
JaR—(b)

<Igier & e vd faia WRnme 4 fava & 99 a1
qrell Ferris Wheel &1 ==l Y s g1 <) foeqaa &
London Eye - 135 meters (443 ft) tall - (Europe), erected
in 1999 - the tallest Ferris Wheel in the
world. Diameter - 120 metres (394 ft).
Star of Nanchang - 160 metres (520 ft) tall - erected in
2006.

Singapore Flyer - 165 metres (541 ft) tall - erected in
2008.

SIGTeT UG b SURIT SURITh Gl A I WA B ©
% Singapore Flyer fd¥a & ey $aTs drell Ferris
Wheel g1 31d: fa®eu (b) Fal SR Bl

Passage I1
(Questions No. 191-195)

Not all that glitters is gold. Not all that is white is
milk. Not all people who wear saffron clothes are sages.
These age-old sayings hold true even now, especially
the last one. We see a lot of people wearing saffron
clothes, but not all of them are sanyasis in the true sense
of the word. A sanyasi is one who guides his followers
on the right path.

Recently, I attended the inaugural function of a home
for destitute women in Mysore. In most cases, the women
were there because they were either harassed by their
in-laws or tortured by drunken husbands. Owing to their
socio-economic conditions, even the parents of the vic-
tims were unable to take them in and care for their hap-
less children. There had also been instances when young
girls, lured by romance, had run away from their homes
and had been deserted by their lovers after the honey-
moon. These girls usually did not dare return to their
parents.

The saying that 'success has many fathers but fail-
ure has none' is true indeed. We get to see only the
distressed women and their children, while the main
cause of their problems remains hidden in the back-
ground. So the victims cannot be blamed altogether.
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Often it is circumstances that force them into such drudg-
ery. These women and girls need to be psychologically
strong and determined to face difficulties with courage
and go on with their lives.

191. Owing to their socio-economic conditions, even
the parents of the victims were unable to help
them because -

(a) They were financially self- sufficient

(b) Society considered them to be backward
(c) Their social and economic situation did not
allow them to do so

(d) They could afford to but were reluctant
FARN—(c¢)

orarer & g IR § == S 6 awd A o
AR & TP shelter home & SgaTe fHar a1 qgf
Azl & g Rafa § urnl S=|F < & o
il gRT @, Afkeei vd refedl @ AR,
ariTd, e wu A faawr rfivas i fha gar
B UM F 3rTHY Bl o1 fadeu (c) el SN Bl

192. The opening sentence '""Not all that glitters is
gold' means -

(a) All metals that shine must necessarily be as
good as gold

(b) One must not be deceived by appearances

(c) Only gold has that unmistakable shine

(d) Glitter is the true quality of truth
SaR—(b)
RGTYT b YIH WRTATH o STRFP Uk # 39 <Arapifcn/
HEEd D! T4l Dl TS B
*'ER G aTel axg AT (F0T) T gl A "Not
all that glitters is gold".
39 AIDIRH/BeTad Bl aredd 2
Tl cafch & arer gra-wTa & e & @ arfge
BIIE]

"One must not be deceived by appearances"

193. Wearing saffron clothes does not make one a
sanyasi, is another way of saying -

(a) Saffron must only be worn by true ascetics
(b) Saffron is not the favourite colour of the

sanyasis

(c) Saffron must be changed to some other colour
(d) Anybody who wears saffron is a sanyasi

JFAR—(a)

orgiel & e W H =@l @ g R b baRan
(Saffron) T €RYT HRA A A & BIg ARH A=Ay
TE 9 ST &

"Wearing saffron clothes does not make one a
sanyasi"

39 SURTARIT ADIRp/Berad Bl 3 UHR A Hl 2wh
fopam S Aepa 2

" HARY 9 g ARP GR0T IR S T Fedl ATl
HIMIE]

"Saffron must only be worn by true ascetics."

3rd: fAwey (a) 8! SN =l

194. The main reason for the main cause of their
problems remaining hidden is
(a) Nobody has bothered to find out the real cause
(b) People are waiting for it to come out in the
open

(c) People don't want to be bothered with ohters'
problems

(d) Nobody has tried to expose it

IIR—(d)

argrer & sifer Yxmamw # ==t @t 18 ® o wfgenali vd
Fefdhal & foxwmd ArioTe Sftae & forg Fadt 5= &
) SR Sfd T ¥ i WA H Ig arel g
S @Re W R Tl % g Ssaver ¥
gufery aifes fifsa Afeen o Rfay g1 89 & dras
fl BIs @RF ITH ol THRAT BN SAFR HRA BT T
T FRall 31: e (d) 981 SR 2

195. Success has many fathers but failure has none
means -
(a) Success has only fathers but no mothers

(b) Failure has many mothers but no fathers

(c) Success comes naturally to men not women

(d) No one owns up to failure

ITR—(d)
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SIETeT & o URTAT o JTRF¥e Uk # "Success has
many fathers but failure has none" Tvﬂ’cﬁf%ﬁ/m Gl
Tal & T3 & FIH I B "No one owns up to
failure" AT "Many will seek credit for success, few
will accept responsibility for failure". I ** &1 afch
Pl AHAdT BT ST (credit) o & forw @1 1w afh
3T S S § WRg Al 9L Ak B g Sy df
S B! B I & oy DIs @RF 1 &
e B 31 fadey (d) 9l ST Bl

Passage I11
(Questions No. 196-200)

The heart is one of the most vital components of
the human body. The heart of the human body has the
continuous job to keep oxygen-rich blood flowing
through the body. All the body's cells need a constant
supply of oxygen, particularly in the brain. The brain
cells live only four to five minutes after the oxygen is cut
off and death comes to the entire body. Heart disease
can result from damage to the heart muscles, the valves
or the pacemaker. If the muscle is damaged, the heart is
unable to pump properly. If the valves are damaged,
blood cannot flow normally. Dr. John Gibbon of U.S.A.
developed a machine in 1953 that could take over tem-
porarily from the heart. Surgeons had the chance to re-
pair or replace a defective heart. Many patients have
had plastic valves inserted in their hearts when their
hearts were faulty. Many people are now being kept

alive with tiny battery operated pacemakers.
196. The heart sends oxygen-rich blood
(a) to the brain only

(b) to the kidneys only
(c) to the entire body

(d) to the lungs only
FaR—(¢)
orrer o gl vd g ot =t 6 T R e gy
3ifeiIsT geh b (Oxygen - rich blood) &1 HYol TRIR
H RAR Aorar YEdT Bl 31a: faden (¢) 9 SR B

197. Heart diseases occur from-
(a) Damage to the heart muscles

(b) Coronium
(c) Pericardium
(d) Heart cells

TAR—(a)

oikgier 1 Aradi vd aredi iRe § a1 T § P gan-
el T, gEg-<ae Al o afd (damage) TgET
q B R 31 fAded (a) 98 SR B

198. All the body's cells need a constant supply of -
(a) Nitrogen
(b) Hydrogen
(c) Helium
(d) Oxygen
SWR—(d)
<Rgier I A1efl vd giedl Uike H =@l 3 T8 ¢ 7P R
B FAT DIRHIR B SRS (oxygen) B Fad
3L (supply) I ez gRil 2 3: fawe (d)
| IR g

199. Dr.John Gibbon of U.S.A. developed an artificial

heartin -

(a) 1955 (b) 1953

(c) 1960 (d) 1950
SWR—(b)

SIETeT o aREdl gd avgdl ufth # =at @ s § o S
it f799 (Dr. John Gibbon) A& 3R = a9 1953
H e HHW ged ataa feanl o fawed (b) v
I Bl

200. Ifthe supply of oxygen is cut off, the brain cells

survive -

(a) 4 to 5 minutes

(b) 9 to 10 minutes

(c) for 15 minutes

(d) for an hour
J—(a)
<RI B S, AIAdi G4 Tedl URkh H @@l A TS g b
ol PRvER A IR A Sifaiior 1 g &5 &
ST Y ARTSB BIRIBIY (brain cells) Faa 4 1 5 e
(4 to 5 minutes) TH & SNAT (survive) Ig Fhall gl
3iqd: ol TR 74 (dead) &1 ST B 31q: fa@ey (a)
| IR g
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